—~— — Cut out to the outside O]_Y‘
Jefferson 21"

Square Side
Table Assembly

Assemble legs onto the cross
brace. One cutout must be
up and one down. Also
" ) make sure notches on top of
e /’rhe legs go to the outside

Questions Contact
419-678-3300 or
sales@polyconceptslic.com

Package Contfents

*1 top

* 4 legs

* 2 support braces
*4S.S. #7 X 2-1/4" Screws

] . *4S8.S.#10x 1-1/2" Screws
Assemble? leg sections and ‘ * 1 #15 torx drive bit

insert into square holes in top * 1 #2 Sq drive bit

Attach legs so that pre
drilled holes are facing
each other

Insert #7 x 2-1/4" screws into
predrilled holes in legs

Insert #10 x 1-1/2" screws into D
predrilled holes in top brace




